34 If 0.75:x::5:8. Then xis equal to

(A 112 120

() 1.25 (Dy 1.30

0.75:x::5:8 arafler x-aor &L sreiT

(:\) LY B) 1.20
() 1.25 (DY 1.30
54. Find the missing term ——— : 45 =35 : 63.
A) 53 o 2
© 35 (D) 55
APULL eTelT EneTs.
: 45 =35 : 63.

(A) 53 B) 25
) 35 (D) 55

90. What is the missing numberlin the proportion? 4:13::64:
(A) . 168 | (B) 198

@ 1 |
@‘ 208 _ 0 (D) 228

Qer@sstiulL efdlssdd AP ereier wingy? 4 :13 :: 64 :

(A) 168 , e (B) 198
() 208 . _ (D) 228



55.

87.

Find the missing term in the following proportion 2:3; 22:

@ 2° ® 2*

© g C BT 2x3

Epsam_ fg suiHe AGLLL e — g snes. 2:3; 2% :
@ 2 | - ®) 2°
© 3 - D) 2x3

* Find the misging number in the place of “?” 3:11::7:7

A) 18 ' (B)' 22

© 29 . /(Dy’ 51

3:11:7:2 “? adap QUi APULL craneans sa By

(A) 18 B 22
© 29 e M 51
l:l::l:L . Find x

5 x x 1.25 _

2 ‘ » 5
R v/ 2
=V : | >) 2

1 3
C) = 2
© : D) 5
11,8 4 . . o
g'x“x'l.2_5 erestled xan.mﬁuq&lrcm.

2 5
A) = , =
A4) s B) 5

1 3
C — =
© 3 ® Z



61. Ifl.1_1. 1 ihen find the value of x
9 x G125
(A) 1.5 B) 2
I 25 (D) 35
%:%=i:1.175 erafle) x —eir AUy srek
A) 15 B) 2
(C) 25 (D) 35
165. The value of x where x: 2%::21:50 1S
1 1
A 1— B 1—
(&) 49 (B) 50
= @ =
50 50
|https://t.me/tnpscfree|
x:2%::21 : 50 eramm eflflg F0&58le x 6 ALY
1 1
A 1— B 1 —
&) 49 (B) 50
49 27
0" — D) =

(V1]
S
at
o


SASI 2.0
Text Box
https://t.me/tnpscfree


62.

71.

50.

© 1:2 & 61

Find the ratio of 9 months to 1 year

S 34 (B) 4:3
(©)

9:1 MD) 1:9

9 rgssnEwL. 1 umLsdnEk QoL Cwwnar lfssmss srams.
(A) 3:4 (B) 4:3
(C) 9:1 D) 1:9

Find the ratio form of 4 years to 8 months

@ 4:8 - | (B) 8:4

8 LoTFRISERSE 4 eU(pLEis6T aemLisem 60 8s eutq.a.m»s'rmm? -

@A), 4:8 | 0 (B) 8:4
© 1:2 - D) 61

The ratio of 9 months to 1 year is

A 2:3 M 3:4
© 4:5 D) 5:6
R ULl 9 wrgriseflen i flgsms sam® 19y

A 2:3 : : (B) 3:4

C) 4:5 (D) 5:6







































































































45.

52.

33.

Ramesh and Meena divide a’ sum of Rs. 25,000 in the ratio 3:2 respectively.
If Rs. 5,000 is added to each of their shares. What 1s the new ratio Meena and
Ramesh’s Share.

(A 4:3 - ' AS:LI
.(C)' 3:2 (D) 2:3 .

rGweiguyd, Bemayd gy 25,000 g 3:2 aanp lfgsHd 1NN sas Gla;rr&a‘rl_smr'r <iga Ym@
gallaummeummd ser wmdld . 5000 wpseSH G\sueﬂaﬂggwn gmGur@ 1BammeysELb,
rGeesEw 2 amer Lkidlen ydlw eSdgn

(A) 4:3 (B) 3:4
(C) 3:2 \ ' D) 2:3

Weekly income of two persons are in the ratio of 7:3 and their weekly expenses are in the
ratio of 5:2. If each of them saves ¥ 300 per week, then the weekly income of the first person
18

(A T 7,500 (B) % 4,500
o % 6,300 - D) % 5,400

Qe BuTEEEMLW  eumy eu@pomand 7:3 eratm elflgsHaud, eury Qsmelard 5:2 GTEuT M
efldlssdad o dretar. oeuiser QmeurCL eumyh epumi 300 GelllgSerment erenmmed psed ;5urﬂaﬂ
GUITT QU(THLDITEITLD GTEUEETEY?

A T 7,500 B) T 4,500
(C) ¥ 6,300 (D) T 5,400

The monthly salary of A, B C is in the proportion of 2 3:85 If Cs munthly galary is
Rs. 1,200 more than that of A, then B's annual salary is '

_{ﬁ},' Rs. 14,400 (B) _Rs. 24,000

{C) Rs.1,200 - (D} Rs. 2,000

A, B, C g8ua @mn&aﬂm Lnrrg FDLIGT aflflzih 2 3 5 u&@u} C— ¢ omg sbuemd A evw ST iggild
. 1,200 ayflab sraflés B e aa,sm@ sibLIGTLD areras?

(A) o 14400 (B) . 24,000

© ® 1,200 - D) @ 2,000



51.  The ratio of boys to girls in a class is 5 : 6. If the number of boys i1s 30, find the number of

girls
M 36 (B) 46
C) 32 D) 42

@m au@Llbe 2 arer wreaweu wremellsatien elldlsd 5 : 6 wrewmeuiseaflen cramaniisens 30 erafld

wrenredlsaficn crawTanii&ons eremes ?
(A) 36 (B) 46
(C) 32 - (D) 42

136. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is

A 15 B) 20

v/% D) 26

@@ uELe wremeaisar, wrarellwiser elflgn 4:5. wremeuisaflen cramarflisams 20 eafld

wrevrelwfen cramenflsmns
(A) 15 (B) 20

©C 25 (D) 26

40.. Ina college, ‘the ratio of the number of boys to girls is 8 : 5. If there are 160 g:u*ls the total
- number of students in the college is

a) 100 L ® 250

(€ 260 @ \6 | |
e sognfilléd e, Quarsaiien eﬂeﬂg,w 8 : 5. Queamsdr 160 aafl® sogriuie Cl"mrrgg
DTERTEU THET aramantisms - ‘

(A) 100 - (B) 250

(C) 260" . (D) 416



125.

151.

The ratio of boys and girls in a school is 7 : 4, If the number of boys is 2800, the total
number of students in the school is |

(A). 3000
(B) 3400
(©) 4000

W w00

e uaraflufer o drar Wrawe mnﬁﬂﬁ@é@ @ean_Guuyerar Gﬂﬁﬁﬁ} 7 : 4. wreweufisn eramafisms

© 2800 erefieh Qrorgg womereu onereiliaficn TRl EanS

(&) 3000 |

(B) 3400

(C) 4000 .
(i)) 4400

The ratio of boys and girls in a class 4 : 5 if the number of bﬁys is 24, find the number of
girls

(A 20 ' ®) 19

© 16 | o 20

o ELGe odar wrareue wHm - wrenellgailen cllflgnd 4 : 5 erar o.drarg. wrerTeuailem

Tt Gena 24 erafled wnereflsafien cramantl&ams ereucueray?
(A 20 B) 19
(C) 16 . ' (D) 30



29.

Divide Rs. 672 in the ratio 5: 3

(A)  Rs. 400 and Rs. 272 ‘(»B/ Rs. 420 and Rs. 252.
(C) Rs. 300 and Rs. 372 (D) Rs. 472 and Rs. 300

gh- 672-ow 5 : 3 eraniy AAlLILgTED HanL_iLg
(A)  em. 400 wHmb em. 272 (B)  em. 420 wpmid . 252
(C) 5. 300 whpmbd @m. 372 (D) em. 472 wHYD @5. 300



3. In a class of 60 students, the ratio of boys and girls is 2:1. How many boys and girls in the

class? 2
\y 40, 20 (B) 30, 30
(C) 20, 40 D) 25,35

60 Cuir Qamear_ @@ @UGd wrawme, wramellaErsE @ Cuwrer g 2:1 eafle,

SjeuauEUde wremeu, wramellseaflen cramarfiisms wng ?
(A) 40, 20 (B) 30,30
(©) 20,40 | (D) 25,35

142. Divide Rs. 675 among A, B, C in the proportion of 4 : 3 : 6.
(A) 200, 205, 270 190, 215, 270
() 200, 235, 240 W 180, 225, 270

. 675-m A, B, C-66 4 : 3: 6 510 985580 LURAGS.
(A) 200, 205, 270 (B) 190, 215, 270
(C) 200, 235, 240 : (D) 180, 225, 270



. 134. A ribbon is cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is 24 m, find
the length of each piece : |

(A) 5m,9m, 10m
\9/'6m,4‘m,14m |
C) 8m,4m,12m

M) 4m,6m,14m

24 18 Banperer Aciicoan 3 : 2 17 crénp OB s105860 Gaut yanms, Qe Ll gam@safar ,’gm'
GTENEOT? : | : -
(A) 515 9151018 ;
(B) 615,415 145

(C) 818,45 1215

(D) 45,68 1418



62. A sum of Rs. 1,300 is divided between A, B, C and D, such that A’s share  B’s share =

, B’s share™ C’s share
Q_’_s__sh___zn‘_e — 2 Then A’s share is ’ :
D’s share 3 .
(A) Rs. 140 g \/ Rs. 160
(©) Rs. 240 (D) Rs. 320

em. 1,300 eranmp Qgnensew A; B, C, D erenp praveumse@ Qe Gu Epssareurn WAssuu®Sng. |
AarumE Beauke  Cearumg 2 vl A i
Barukg Cearumg  Derung 3 2

A) @ 140 B) . 160
(C) 6,240 - (D) em. 320

93.  Find the 4t proportional to 4, 16 and 7 \g/
28

A) 26

© . 24 : (D) 22
4, 16, 7-en prensneugy Nfssmss sawr(Hly..

A) 26 (B) 28
© 24 (D) 22

141. The fourth .proportional to 0.2, 0.12 and 0.3 is

A) 013 B) 0.15

y 0.18 (D) 0.8
0.2,0.12 whmib 0.3 2 epL_w pns&r&nmg.aﬂéﬁg &b D@GLD.
A) 0.13 (B) 0.15

(©) 018 : (D) 0.8



47,

21,

Gold is 19 times as heavy as water and copper is 9 times as heavy as water. In what ratio
should these be mixed to get an alloy 15 times as heavy as water? .

A 11 ; B) 2:3

© 12 . @( 3:2

BRI g,aio'raifmr]ﬁ Gured 19 1oL @ senorsayb, ﬁl‘l’l;gi]'[.b gamexteng Gued 9 LRIEG SLISaHD
o arangl. pamamerry Gume, 15 L g senores o Carss soma Qup, Reusdr aaalldgsdd
se&sliuL Geue(HLb?

A 11 B) 23

(C) 12 D) 32

In a schiool, there are 800 students and 25 teachers. If the student is increased to 960
how many more teachers should be appointe(yj.\jt;ain the student - teaqfler ra'tio?'
@ 4 - s -

@@ uerafluSiér 800 'm_rrerur@.lr'ré;@xh whoid 25 cg,ﬁlﬂu.lfrstgyt,blp_d'rmmr'r. innaef - cTamerfigens 960 |
<SG DLEITED, wnemTasT - .%é]ﬂm'_r'r AEgn wmTod EMmés eta@id Tsgman ngﬂrﬂu_lr'reseir ‘

Bundasiine. Geusr@b?

w4 ® s

© 6 @ 30



23.  An alloy is to contain copper and zinc in the ratm 9:4. The mnc reqmred to be melted with

24kg of coppens o .
-y/f?glﬁ . ® 10ike
© 9:;’;—1{;; | | . @ 9Kg

e e Carss swmauiico 9:4 eﬂaﬁﬁﬁm grrl.ﬂl;rqpm g]ﬁﬁjﬁﬂ‘ﬁqpm 2_eTeen. 24 £ ﬂ §WLI9IJ‘§§II_GDT G&rrw
L (64 Falq I GISHHISD srmmarm GCopaneu

@ 10Zea - ® w;ea
© 9284 I N D) 9488

3

90. ‘The ratio of three numbers is 3: 4 : 7 and their product is 18144. The numbers are

A 17,186, 13

G\ 182442

(C) 12,1819 .

@) 11,1316 | | S o
apenm crewrEetien sﬁleﬂgsw (yam;pGu.l 3: 4 : 7 Gmgmﬁ: <Bjéu mriten Gugeiss;buaﬁdnll_sufl erafled
.gm_@'msumm .

(A) 716,13

(B) 18,24, 42 )

© 12,18 19

(D) 11,13, 16



177.

176.

The speed of three cars are in the ratio 5 : 4 : 6. The ratio between the time taken by them
to travel the same distance is ' '

(A 5:4:6 . | - (B). 6:-;1:5 |
©) 10:'12:15'_ | upa"lz:w;;o

eLpEITS anisefian Cousrisefian aﬁl.ﬁgm (y)eanuJ 5: 4 6. @55 apeny st @Gy g,ur;rgamg, SL&8

| sr@gg,la; Qarenenb Crrmsetien el & g1n

A) 5:4:6 - o (B) 6:4:5
€ 10:12:15 | (D) 12:15:10

‘The ratio of incomes of A and Bis5: 4 and the ratlo of their expendlture is 3: 2 If at the
end each month each saves Rs. 1,600, then the menthly income of B is

Rs. 3, 200 : ' - (B) Rs. 4,000

(©) Rs.3,600 (D) Rs.4,400

A'. m_ri)gtﬁ B_uﬁls&r_.m@mrrsmgﬁﬁ aﬁﬁglﬂéﬁ 54, @mffsdﬂc&r @&wm&éﬂs&l S8z 3 : 2. G OIS
wpuede Gaisd Goomd salzsalGu @m. 1.600 Cabiggmiser crafld, Bem g QU(TLOTGBTLD

GreueueTa}?

@ 3200 - ®B) . 4,000

(© e 3,600 : (D) m 4,400
®.



33.  Three numbers are in the ratio 4: 5: 6 and their average is 25. The largest number is

A 35 ' . ®) 40

© 4 - - @

apenyy sressilen eSfsib 4 : 5 : 6 eipayenLw syran 25 aald B Quiftus erer ergy? -
@ 35 | - (®B) 40
C) 45 ' ' D) 30

38. The sum of the two numbers is 40 and their difference is 4. The ratio of the numbers is

,(m/ 11:9 (B) 10:7

© 20:12 @) 11:12

@@ cramaaiien s(Hsew 40, seupilen Caugun® 4 eraflcr, BicuCeuamsafien 6lldlsw

A 11:9 @) 10:7
(C) 20:12 M 11:12

12.  In avillage of 1,21,000 people, the ratio of men to women is 6:5. The number of men
(A) 33,000 % 66,000 (©) 55,000 (D) 44,000

e® &ymogder was Ggrens 1,21,000. spam, Quamsefiar elflsnd 6:5 eafld oifd o 6rer
@ satlan crapamilEons

(A) 33,000 (B) 66,000 (C) 55,000 (D) 44,000



16.  The product of three number with the ratio 1:2:3 is 750 then the sum of their squares is

y 350 (B) 600 (C) 450 (D) 400
apangy eramsefian QumEEs Gsres 750 sieasdiar difign 1:2:3 aafld sj6uQeuasatien
surssmseflen sbHsd
(A) 350 (B) 600 (C) 450 (D) 400
41, Sum of squares of three positive numbers is 608 and they are in the ratio 2 3 : 5. Then,
find the numbers ‘
A 6,915 df 8,12,20 - (C©) 10,15,25 (D) 14,21, 35

eparm Wans cramaaiien eurshsmisalen s {Bad 608. Cogb oeuCaarsalcr cldsiga2:3: 5, aafle
DIBS TRTEHGT LITGOGU?
Q). 6,915 B) 8 12,20 © 10,15,25 (D) 14,21, 35

\

42. If30%of A=0.25 of B =% of C, then find the ratio A: B:C
5

(A) 15:12:10 B) 12:15:10 w( 10:12: 15 M) 10:15:12
A-a&30%-B —-ar0.25= E: C aafleo A: B:C erenp flggengs smer

5]
(A) 190:12:10 (B) 12:15:10 (© 10:12: 10 (D} 10:315:9%

128 Three numbers are in the ratio 2 : 3 : 5 and the sum of their aquares is 608 then the
"~ numbers are reBpectlvely ' :

@) 616,10 o R mﬂ 8, 12, 20
- (C) -12,8, 20 . o (D) 20, 8,-12°

.‘2 3 5 srewm eﬂeﬂg.gﬁw e.grar mem mmaaaﬂm ansssafien n@g@) 608 Graﬂa) am@mm&m

'_@pa)m@u.l .
@ 61610 ® 812,20

© 1282 @ 20,812

71. Divide Rs. 2600 among A, B, C in the ratio 1/2: 1/3: 1/4-

1) Rs. 1200, Rs. 600, Rs. 800 2) Rs. 800, Rs. 1200, Rs. 600
1) Rs. 600, Rs. 800, Rs. 1200 /Rs, 1200, Rs. 800, Rs. 600



7 A 4

\. B, C play cricket. The runs scored by A and B, B and C are in the same ratio 3:2. I A, B, C together
scored 342 runs, then the runs scored by A, B, C respectively are-

Y162, 108, 72 2) 192. 90. 60

3) 162, 72, 108 4) 160, 108, 74

' 16'2.- DnndeRs GSOamongA,B CsothatAgetsStlmes moretoBandBéets*lhmea ho-C
"'(A) RslGGRs 4035480' L |
,ﬂf Rs 480, Rs. 160, Rs. 0
© Rs 480, Ra 40, Rs. 160. '_

D lesoﬁsmmw

“ A—a;@ B -0 Gurra) 3 tm._rsl@m B-s@, C—mu Gurrm 4 u:t..m@,m &lmuﬁ@mum, @ 680-$ ﬂlﬂm@ '
SieuigeT ngm Qprrms peoplu |

-,(A_).' J— 5@, 163,' @, 40, @m. 480
B) @ 480, m. 160, @, 40
- _(C)"_ K. 480, g 40, . 160 |

| ® empmse

182 A@ﬂd earnsRs Bf}m'? hrs R.ameamsRs 90 in 12 hrs The ratm of their earmngszs
__"(A_) ‘23:12 L '_ (B) 8: 9 |

| Q,Gm.lbﬁ erémucuir 7 wenf G,tﬁms@cu . 80 -1, Urru:. Y 12 werfl Gg,u‘gﬁm @ .90-1b Qﬂbﬁrrﬂggﬁ&; o
_ 'ﬂmmmsmunﬁﬁgﬁﬁmﬁﬁﬂﬂmsﬁmg,m . - ” ; ,
(C>'_ B2:21 @y g1



183

" The sum of twe numbets is 40. Thelr d.lfference 8 4 then the ratm of the nu.mbers

-'_-_'(A)- s @ u:

L © m_::.:- T o 10 9

@@ Grmsaﬁél &@,5«0 40: afmmsaﬂm eﬁ]gﬁu.mm 4 srsuﬂm éllQ.lGGUGﬂlTﬂSGIﬂGGI sﬁlé]gn

W ows T ®

© 007 e



